



SYMMETRIC PROPERTY OF POSITIVE SOLUTIONS TO SYSTEMS INVOLVING NON-LOCAL OPERATORS

JIAN WANG^{1,*}, XIN WEI²

¹Institute of Technology, East China Jiaotong University, Nanchang, Jiangxi 330022, China

²Department of Finance, Jiangxi Normal University, Nanchang, Jiangxi 330022, China

Abstract. In this paper, we study symmetry results of positive solutions for the following system involving nonlocal operators

$$\begin{cases} (-\Delta + id)^{\alpha_1} u = f_1(v) & \text{in } \mathbb{R}^N, \\ (-\Delta + id)^{\alpha_2} v = f_2(u) & \text{in } \mathbb{R}^N, \\ \lim_{|x| \rightarrow +\infty} u(x) = \lim_{|x| \rightarrow +\infty} v(x) = 0, \end{cases}$$

where $N \geq 2$ and $0 < \alpha_1, \alpha_2 < 1$. We use the method of moving planes to obtain the radial symmetry of positive solutions to the above system.

Keywords. System; Nonlocal operator; Radial symmetry; Moving plane.

1. Introduction

The purpose of this paper is to consider symmetry results of positive solutions for system involving non-local operators

$$(1) \quad \begin{cases} (-\Delta + id)^{\alpha_1} u = f_1(v) & \text{in } \mathbb{R}^N, \\ (-\Delta + id)^{\alpha_2} v = f_2(u) & \text{in } \mathbb{R}^N, \\ \lim_{|x| \rightarrow +\infty} u(x) = \lim_{|x| \rightarrow +\infty} v(x) = 0, \end{cases}$$

*Corresponding author.

E-mail addresses: jianwang2007@126.com (J. Wang), wxgrat@sohu.com (X. Wei)

Received February 28, 2016

where $N \geq 2$ and $\alpha_i \in (0, 1)$ for $i = 1, 2$. The non-local operator $(-\Delta + id)^{\alpha_i}$ can be characterized as $(-\Delta + id)^{\alpha_i} \phi(x) = \mathcal{F}^{-1}[(1 + |\xi|^2)^{\alpha_i} \mathcal{F}(\phi)](x)$, where \mathcal{F} is the Fourier transform and \mathcal{F}^{-1} is the inverse of Fourier transform. Taking Fourier transform to differential system (1), it is closely related to the following integral system

$$(2) \quad \begin{cases} u(x) = \int_{\mathbb{R}^N} K_1(x - \xi) f_1(v(\xi)) d\xi, & x \in \mathbb{R}^N, \\ v(x) = \int_{\mathbb{R}^N} K_2(x - \xi) f_2(u(\xi)) d\xi, & x \in \mathbb{R}^N, \\ \lim_{|x| \rightarrow +\infty} u(x) = \lim_{|x| \rightarrow +\infty} v(x) = 0, \end{cases}$$

where K_i is the Bessel kernel, $i = 1, 2$, which is given by

$$(3) \quad K_i(x) = \mathcal{F}^{-1}\left(\frac{1}{(1 + |y|^2)^{\alpha_i}}\right)(x).$$

When $N \geq 2$ and $\alpha_i \in (0, 1)$, the kernel $K_i \in L^1(\mathbb{R}^N)$ is positive, radially symmetric and smooth, moreover, it is decreasing as a function of $r = |x|$, refer to the work of Ma and Chen [13], Pólya [15], Stein [16], Ziemer [18]. These properties of the kernel K_i plays a key role when we use the moving planes method introduced by Li [11], Chen, Li and Ou [6, 7], Felmer et al [8, 9], Ma and Chen [13, 14]. These ideas provide an approach suitable for integral equations, which is different from the usual moving planes method originated in [10, 1] for Laplacian case.

During these years there has been a renewed and increasing interest in the study of linear and nonlinear integral operators, refer to [2, 3, 4] and so on. Especially, the authors in [8] studied the existence and symmetry properties of positive solutions for nonlinear schrödinger equation with the fractional laplacian

$$(4) \quad \begin{cases} (-\Delta)^{\alpha} u + u = f(u) & \text{in } \mathbb{R}^N, \\ \lim_{|x| \rightarrow +\infty} u(x) = 0, \end{cases}$$

where $N \geq 2$, $\alpha \in (0, 1)$ and the function $f : \mathbb{R} \rightarrow \mathbb{R}$ is superlinear and has subcritical growth with respect to u . They applied the moving planes technique to prove that the solutions of (4) are radially symmetric.

For single equation related to $(-\Delta + id)^{\alpha}$, Tan, Wang and Yang [17] have studied the existence of ground state solutions and bounded state solutions. More precisely, they investigated

the following nonlinear fractional field equation

$$(5) \quad (-\Delta + id)^{\frac{1}{2}}u = u^p \quad \text{in } \mathbb{R}^N, \quad u \in H^{\frac{1}{2}}(\mathbb{R}^N).$$

It was shown that if $1 < p < \frac{N+1}{N-1}$, then there exist at least one C^2 positive ground state solution and this solution decays exponentially at infinity. In particular, the solution of (5) is radial symmetry by the Theorem 1 in [13].

In what follows, symmetry result for positive solutions of system (1) is considered. We assume the following hypotheses on the functions $f_i : \mathbb{R} \rightarrow \mathbb{R}$

$$(F) \quad f_i \in C^1(\mathbb{R}), \text{ increasing and there exists } \tau_i > 0 \text{ such that}$$

$$\lim_{\xi \rightarrow 0^+} \frac{f_i'(\xi)}{\xi^{\tau_i}} = 0.$$

The symmetry result is established as follows.

Theorem 1.1. *Assume that the function f_i satisfies (F) for $i = 1, 2$. Let the pair $(u_1, u_2) \in C^2(\mathbb{R}^N) \times C^2(\mathbb{R}^N)$ be a positive solution of system (1) with $u(x) = O(\frac{1}{|x|^{\beta_1}})$ and $v(x) = O(\frac{1}{|x|^{\beta_2}})$ at infinity for some $\beta_1, \beta_2 > 0$. Then both u and v are radially symmetric.*

2. Proof of Theorem 1.1

The radial symmetry of positive solutions for elliptic equations in the unit ball or the whole space have been studied by Gidas, Ni and Nirenberg [10] using the method of moving planes based on the maximum principle. However, our system (1) involving nonlocal operator absences the maximum principle. Here we use a new type of moving plane method as developed recently by Li [11], Chen, Li and Ou [5, 7], to obtain symmetry result. In order to apply this moving plane method, we need to introduce a Hardy-Littlewood-Sobolev type inequality.

Proposition 2.1. *Let K_i be defined in (3) and $m_i > \max\{\tau_i + 1, \frac{N\tau_i}{\alpha_i}\}$ for $i = 1, 2$. If $g \in L^{\frac{m_i}{\tau_i+1}}(\mathbb{R}^N)$, then $\int_{\mathbb{R}^N} K_i(\cdot - y)g(y)dy \in L^{m_i}(\mathbb{R}^N)$. Moreover, we have the estimate*

$$(6) \quad \left\| \int_{\mathbb{R}^N} K_i(\cdot - y)g(y)dy \right\|_{L^{m_i}(\mathbb{R}^N)} \leq C \|g\|_{L^{\frac{m_i}{\tau_i+1}}(\mathbb{R}^N)},$$

for some constant $C > 0$.

Proof. See the Theorem 9 in [13], also see [12]. □

Now we use the method of moving planes to prove symmetry result in Theorem 1.1. To this end, we denote

$$\Sigma_\lambda = \{x = (x_1, x') \in \mathbb{R}^N \mid x_1 > \lambda\},$$

$$T_\lambda = \{x = (x_1, x') \in \mathbb{R}^N \mid x_1 = \lambda\},$$

$$u_\lambda(x) = u(x_\lambda) \text{ and } v_\lambda(x) = v(x_\lambda),$$

where $\lambda \in \mathbb{R}$, $x_\lambda = (2\lambda - x_1, x')$ for $x = (x_1, x') \in \mathbb{R}^N$.

Proposition 2.2. *For any $x \in \mathbb{R}^N$, we have*

$$(7) \quad u_1^\lambda(x) - u_1(x) = \int_{\Sigma_\lambda} (K_1(x-y) - K_1(x_\lambda - y))(h_1(u_2^\lambda(y)) - h_1(u_2(y)))dy$$

and

$$(8) \quad v_\lambda(x) - v(x) = \int_{\Sigma_\lambda} (K_2(x-\xi) - K_2(x_\lambda - \xi))(f_2(u_\lambda(\xi)) - f_2(u(\xi)))d\xi.$$

Proof. Since K_1 is radially symmetric, we have

$$\begin{aligned} u(x) &= \int_{\mathbb{R}^N} K_1(x-\xi)f_1(v(\xi))d\xi \\ &= \int_{\Sigma_\lambda} K_1(x-\xi)f_1(v(\xi))d\xi + \int_{\mathbb{R}^N \setminus \Sigma_\lambda} K_1(x-\xi)f_1(v(\xi))d\xi \\ &= \int_{\Sigma_\lambda} K_1(x-\xi)f_1(v(\xi))d\xi + \int_{\Sigma_\lambda} K_1(x_\lambda - \xi)f_1(v_\lambda(\xi))d\xi, \end{aligned}$$

and

$$u_\lambda(x) = \int_{\Sigma_\lambda} K_1(x_\lambda - \xi)f_1(v(\xi))d\xi + \int_{\Sigma_\lambda} K_1(x-\xi)f_1(v_\lambda(\xi))d\xi.$$

Subtracting above equalities, we obtain that

$$u_\lambda(x) - u(x) = \int_{\Sigma_\lambda} (K_1(x-\xi) - K_1(x_\lambda - \xi))(f_1(v_\lambda(\xi)) - f_1(v(\xi)))d\xi,$$

i.e. (7) is true. Similarly, we have (8). □

Now we give the proof of Theorem 1.1.

Proof of Theorem 1.1. We divide the proof into several steps.

Step 1: We prove that $u_\lambda \leq u$ and $v_\lambda \leq v$ in Σ_λ , for λ large (negative).

To this end, define

$$\Sigma_{\lambda,u} = \{x \in \Sigma_\lambda \mid u_\lambda(x) > u(x)\}$$

and

$$\Sigma_{\lambda,v} = \{x \in \Sigma_\lambda \mid v_\lambda(x) > v(x)\},$$

we just need to show that $\Sigma_{\lambda,u}$ and $\Sigma_{\lambda,v}$ are empty for λ large (negative). By contradiction, we assume that $\Sigma_{\lambda,u}$ is not empty. For any $x \in \Sigma_{\lambda,u}$ and $\xi \in \Sigma_\lambda$, we have $|x_\lambda - \xi| \geq |x - \xi|$. Since K_1 is decreasing, then

$$K_1(x - \xi) \geq K_1(x_\lambda - \xi).$$

Using the condition that f_1 is increasing and Proposition 2.2, we obtain

$$\begin{aligned} u_\lambda(x) - u(x) &= \int_{\Sigma_\lambda} (K_1(x - \xi) - K_1(x_\lambda - \xi))(f_1(v_\lambda(\xi)) - f_1(v(\xi)))d\xi \\ &= \int_{\Sigma_{\lambda,v}} (K_1(x - \xi) - K_1(x_\lambda - \xi))(f_1(v_\lambda(\xi)) - f_1(v(\xi)))d\xi \\ &\quad + \int_{\Sigma_\lambda \setminus \Sigma_{\lambda,v}} (K_1(x - \xi) - K_1(x_\lambda - \xi))(f_1(v_\lambda(\xi)) - f_1(v(\xi)))d\xi \\ &\leq \int_{\Sigma_{\lambda,v}} (K_1(x - \xi) - K_1(x_\lambda - \xi))(f_1(v_\lambda(\xi)) - f_1(v(\xi)))d\xi \\ &\leq \int_{\Sigma_{\lambda,v}} K_1(x - \xi)(f_1(v_\lambda(\xi)) - f_1(v(\xi)))d\xi. \end{aligned}$$

By (F), denoting $M = \sup_{\mathbb{R}^N} v$, there exists $C > 0$ such that $f_1'(t) \leq C|t|^{\tau_1}$ for all $0 \leq t \leq M$, therefore by the positivity of K_1 and the mean value theorem we get, for any $x \in \Sigma_{\lambda,u}$,

$$0 < u_\lambda(x) - u(x) \leq C \int_{\Sigma_{\lambda,v}} K_1(x - \xi) v_\lambda^{\tau_1}(\xi) (v_\lambda(\xi) - v(\xi)) d\xi.$$

Choosing $m_1 > 0$ large such that $m_1 > \max\{\tau_1 + 1, \frac{N\tau_1}{\alpha_1}\}$ and $m_1\beta_2 > N$, by Proposition 2.1, we obtain

$$\begin{aligned} \|u_\lambda - u\|_{L^{m_1}(\Sigma_{\lambda,u})} &\leq C \left\| \int_{\Sigma_{\lambda,v}} K_1(\cdot - \xi) v_\lambda^{\tau_1}(\xi) (v_\lambda(\xi) - v(\xi)) d\xi \right\|_{L^{m_1}(\Sigma_{\lambda,u})} \\ &\leq C \|v_\lambda^{\tau_1} (v_\lambda - v)\|_{L^{\frac{m_1}{\tau_1+1}}(\Sigma_{\lambda,v})} \\ &\leq C \|v_\lambda\|_{L^{m_1}(\Sigma_{\lambda,v})}^{\tau_1} \|v_\lambda - v\|_{L^{m_1}(\Sigma_{\lambda,v})}, \end{aligned}$$

the last inequality holds by Hölder inequality.

Similarly, choosing $m_2 > 0$ large such that $m_2 > \max\{\tau_2 + 1, \frac{N\tau_2}{\alpha_2}\}$ and $m_2\beta_1 > N$, we can get

$$\|v_\lambda - v\|_{L^{m_2}(\Sigma_{\lambda,v})} \leq C \|u_\lambda\|_{L^{m_2}(\Sigma_{\lambda,u})}^{\tau_2} \|u_\lambda - u\|_{L^{m_2}(\Sigma_{\lambda,u})}.$$

Let $m = \max\{m_1, m_2\}$. Then

$$(9) \quad \|u_\lambda - u\|_{L^m(\Sigma_{\lambda,u})} \leq C \|v_\lambda\|_{L^m(\Sigma_{\lambda,v})}^{\tau_1} \|v_\lambda - v\|_{L^m(\Sigma_{\lambda,v})}$$

and

$$(10) \quad \|v_\lambda - v\|_{L^m(\Sigma_{\lambda,v})} \leq C \|u_\lambda\|_{L^m(\Sigma_{\lambda,u})}^{\tau_2} \|u_\lambda - u\|_{L^m(\Sigma_{\lambda,u})}.$$

Combining (9) and (10), we have

$$(11) \quad \|u_\lambda - u\|_{L^m(\Sigma_{\lambda,u})} \leq C \|v_\lambda\|_{L^m(\Sigma_{\lambda,v})}^{\tau_1} \|u_\lambda\|_{L^m(\Sigma_{\lambda,u})}^{\tau_2} \|u_\lambda - u\|_{L^m(\Sigma_{\lambda,u})}.$$

Since $m\beta_2, m\beta_1 > N$, $u(x) = O(\frac{1}{|x|^{\beta_1}})$ and $v(x) = O(\frac{1}{|x|^{\beta_2}})$ at infinity, by choosing λ large (negative), we have

$$C \|v_\lambda\|_{L^m(\Sigma_{\lambda,v})}^{\tau_1} \|u_\lambda\|_{L^m(\Sigma_{\lambda,u})}^{\tau_2} \leq \frac{1}{2},$$

which combines with (11) yielding that

$$\|u_\lambda - u\|_{L^m(\Sigma_{\lambda,u})} = 0,$$

and then $|\Sigma_{\lambda,u}| = 0$. Hence, $\Sigma_{\lambda,u}$ is empty for λ large (negative). Similarly, we can get $\Sigma_{\lambda,v}$ is empty for λ large (negative). That is, there exists λ_L such that for any $\lambda < \lambda_L$, we have

$$u_\lambda \leq u \quad \text{and} \quad v_\lambda \leq v \quad \text{in} \quad \Sigma_\lambda.$$

Step 2: We need to show that λ_0 is finite, where

$$\lambda_0 = \sup\{\lambda \mid u_\lambda \leq u \quad \text{and} \quad v_\lambda \leq v \quad \text{in} \quad \Sigma_\lambda\}.$$

Indeed, since u decays at infinity, it is easy to know that there exist λ_s so that $u(x) < u_{\lambda_s}(x)$ for some $x \in \Sigma_{\lambda_s}$. Therefore, $\lambda_0 < \lambda_s$. And by Step 1, we know $\lambda_0 \geq \lambda_L$. As a consequence, λ_0 is finite.

Step 3: Prove that $u \equiv u_{\lambda_0}$ and $v \equiv v_{\lambda_0}$ in Σ_{λ_0} .

By contradiction, we can suppose that $u \neq u_{\lambda_0}$ in Σ_{λ_0} . By continuity of u with respect to λ , $u \geq u_{\lambda_0}$ in Σ_{λ_0} . By (8) in Proposition 2.2 and the monotonicity of f_2 and K_2 , for any $x \in \Sigma_{\lambda_0}$, we have

$$v_{\lambda_0}(x) - v(x) = \int_{\Sigma_{\lambda_0}} (K_2(x - \xi) - K_2(x_{\lambda_0} - \xi))(f_2(u_{\lambda_0}(\xi)) - f_2(u(\xi)))d\xi < 0,$$

which implies that

$$v > v_{\lambda_0} \quad \text{in } \Sigma_{\lambda_0}.$$

Similarly, by (7) and the monotonicity of f_1 and K_1 , we get

$$u > u_{\lambda_0} \quad \text{in } \Sigma_{\lambda_0}.$$

Claim. $u \geq u_{\lambda}$ and $v \geq v_{\lambda}$ in Σ_{λ} continues to hold when $\lambda_0 < \lambda < \lambda_0 + \varepsilon$, where $\varepsilon > 0$ small.

Now we assume that Claim is true, then this contradicts the definition of λ_0 . Hence $u \equiv u_{\lambda_0}$ in Σ_{λ_0} , by the similar way, we can get $v \equiv v_{\lambda_0}$ in Σ_{λ_0} .

We only need to prove Claim to complete Step 3.

Proof of Claim. Assume $\lambda \in (\lambda_0, \lambda_0 + \varepsilon)$, where $\varepsilon > 0$ will be chosen later. If $u(x) < u_{\lambda}(x)$ in $\Sigma_{\lambda, u}$, using the similar approach in Step 1, we have

$$(12) \quad \|u_{\lambda} - u\|_{L^m(\Sigma_{\lambda, u})} \leq C \|v_{\lambda}\|_{L^m(\Sigma_{\lambda, v})}^{\tau_1} \|u_{\lambda}\|_{L^m(\Sigma_{\lambda, u})}^{\tau_2} \|u_{\lambda} - u\|_{L^m(\Sigma_{\lambda, u})}.$$

Since $m\beta_2, m\beta_1 > N$, $u(x) = O(\frac{1}{|x|^{\beta_1}})$ and $v(x) = O(\frac{1}{|x|^{\beta_2}})$ at infinity, then there exist $\varepsilon_1 > 0$ and R large such that for all $\lambda \in (\lambda_0, \lambda_0 + \varepsilon_1)$, we have

$$(13) \quad C \|v_{\lambda}\|_{L^m(B_R^c(0))}^{\tau_1} \|u_{\lambda}\|_{L^m(B_R^c(0))}^{\tau_2} \leq \frac{1}{4}.$$

By continuity of u with respect to λ and $u > u_{\lambda_0}$ in Σ_{λ_0} , we know that $|\Sigma_{\lambda, u} \cap B_R(0)|$ is small for $\varepsilon_2 > 0$ small enough, where $\lambda \in (\lambda_0, \lambda_0 + \varepsilon_2)$. Then

$$(14) \quad C \|v_{\lambda}\|_{L^m(\Sigma_{\lambda, u} \cap B_R(0))}^{\tau_1} \|u_{\lambda}\|_{L^m(\Sigma_{\lambda, u} \cap B_R(0))}^{\tau_2} \leq \frac{1}{4}.$$

Let $\bar{\varepsilon} = \min\{\varepsilon_1, \varepsilon_2\}$, for $\lambda \in (\lambda_0, \lambda_0 + \varepsilon)$, by (12)-(14), we obtain

$$(15) \quad \|u_{\lambda} - u\|_{L^m(\Sigma_{\lambda, u})} = 0,$$

and then $|\Sigma_{\lambda,u}| = 0$. Hence, $\Sigma_{\lambda,u}$ is empty for $\lambda \in (\lambda_0, \lambda_0 + \bar{\varepsilon})$. Similarly, there exists $\tilde{\varepsilon} > 0$ such that $\Sigma_{\lambda,v}$ is empty for $\lambda \in (\lambda_0, \lambda_0 + \tilde{\varepsilon})$. Taking $\varepsilon = \min\{\bar{\varepsilon}, \tilde{\varepsilon}\}$, we get $u \geq u_\lambda$ and $v \geq v_\lambda$ in Σ_λ for any $\lambda \in (\lambda_0, \lambda_0 + \varepsilon)$.

Finally, by translation, we may say that $\lambda_0 = 0$. Thus we have that u is symmetric about x_1 -axis, using the same approach in any arbitrary direction, implies that u is radially symmetric. We finish the proof. \square

REFERENCES

- [1] H. Berestycki and L. Nirenberg, On the method of moving planes and the sliding method, *Bol. Soc. Brasileira Mat.* 22, No.1, (1991).
- [2] L. Caffarelli and L. Silvestre, An extension problem related to the fractional laplacian, *Comm. Partial Differential Equations* 32 (2007), 1245-1260.
- [3] H. Chen and H. Hichem, Sharp embedding of Sobolev spaces involving general kernels and its application, *Annales Henri Poincare* 16 (2015), 1489-1508.
- [4] H. Chen and L. Véron, Semilinear fractional elliptic equations involving measures, *J. Diff. Eq.* 257 (2014), 1457-1486.
- [5] W. Chen, C. Li and B. Ou, Qualitative properties of solutions for an integral equation, *Discrete and Continuous Dynamical Systems* 12(2) (2005), 347-354.
- [6] W. Chen, C. Li and B. Ou, Classification of solutions for a system of integral equations, *Comm. Partial Differential Equations* 30 (2005), 59-65.
- [7] W. Chen, C. Li and B. Ou, Classification of solutions for an integral equation, *Comm. Pure Appl. Math.* 59 (2006), 330-343.
- [8] P. Felmer, A. Quaas and J. Tan, Positive solutions of non-linear Schrödinger equation with the fractional Laplacian, *Proc. Royal Soc. Edinb.* 142 (2012), 1237-1262.
- [9] P. Felmer and Y. Wang, Radial symmetry of positive solutions to equations involving the fractional Laplacian, *Comm. Contem. Math.* 16, No. 01, (2013).
- [10] B. Gidas, W. M. Ni and L. Nirenberg, Symmetry and related properties via the maximum principle, *Comm. Math. Phys.* 68 (1979), 209-243.
- [11] Y.Y. Li, Remark on some conformally invariant integral equations: the method fo moving spheres, *J. Eur. Math. Soc.* 6 (2004), 153-180.
- [12] E. Lieb, Sharp constants in the Hardy-Littlewood-Sobolev and related inequalities, *Ann. of Math.* 118 (1983), 349-374.

- [13] L. Ma and D. Chen, Radial symmetry and monotonicity for an integral equation, *J. Math. Anal. Appl.* 342 (2008), 943-949.
- [14] L. Ma and D. Chen, A Liouville type theorem for an integral system, *Comm. Pure Appl. Anal.* 5 (2006), 855-859.
- [15] G. Pólya, On the zeros of an integral function represented by Fourier integral, *Messenger of Math.* 52 (1923), 185-188.
- [16] E.M. Stein, *Singular integrals and differentiability properties of functions*, Princeton University Press, 1970.
- [17] J. Tan, Y. Wang and J. Yang, Nonlinear fractional field equations, *Nonlinear Anal.* 75 (2012), 2098-2110.
- [18] W. Ziemer, *Weakly differentiable functions: Sobolev space and functions of bounded variation*, Springer-Verlag, New York, 1989.